nrnenkru
Upqbyunpdwé qnypp hwplunhpp biblppnbughtt wénippny ppugtibine dwupt

19.10.2018p.  p.bpluat

wplpumpp Guipwprwl wyywhndnn Swnugnspwy Gpluwt punwph Ugwihtywly U Mudpwpbl pudbp wijwq hwpluwnpp
Yunpupnn wpnuipwnuipnyeywt wiwg Eppbbwby M bwdwpywbu  nwndbwupbpbng 19.10.2018p. puljudwé phy 00340967
Yupwpnnuiyuwt duipnyh bmipbipp
MUrRaesh

<< bpluwtih pwnuph Upwihbywly b hwidpwiybt duwpswlwt sngwbbibiph plnhwbmp ppujwunipputl nuipupwbh Ynndhg
29.06.2015p. yipws phy GUNY1616/02/14 Yunpwpnnuilut pbpph hudwéuyh whyp  <wdpwpdnul <ndhwbithupwtihg hognup
«dSA-Cuywutpwl puiblyy PLL-h pnbwquitiéty' 1,591,520.60 << npwd qrudwp, wyn pdmd” Juplh gnidup’ 1,230,000.00 << npwd
/nphg dudybiynubig gnudwp 1,005,970.20 <K npwidl/, quplip npufwg hugdwplidws ypinynu 146,545,60 << npuad /nppg dwdltpuitig
yinlnu 144, 385.10 << ppuid/, dwdlbipwing inlinup npdwg hugdwplpjws pnyd” 26,377.80 << npud, dwdlbipuitlg guswph
nhdwg hugduwplwé qnyd 148,007.20 << npund, fuplip uwwplduwl hushyln 40,590.00 npwd dwdltyputg Juplp dtwgnpnh
b yinfynubibiph bhunpduwdp uluwdé 04.06.2014p.-pg dhbsh npwby puwwpugh dwpnidp swpniilyly jnipwpwbsimp nigwguwdé opyus
hwdwp 0.1% npnypuswithny yinydh hupdwnlip:

Cwdpwpdnd  <nhwtbhywtpg  hognup  «USP-Cuywupwli  puiilp» ¢F’C‘—/7 pntnuquiid; - 35,830.40

<< npwid, npubiv huigynph hnnuhg bwpiwwgbiu Yewpdws whypwlwl popph qnudwn:
Pnbwquiénulp yuupwéty phy Nd-066-13-00551 wuydwbwepny qpuidh wnwpliwgh bhunpdwdp:

Plswbu bwl wwppwywbhg poliwqubdly pnbwquibddwtl Bipwlw qridwph 5 pnlnup, npwbu Gugwpnqulwt
gnpénnnipiniblinh Gunpupdwl dwiuuh qridwp: )
dbpngpputh hpdwl dpw b qbludwpdbing «hapudpwt wigbph hwplunpp Jurpupdwl dweps << opkliph 28, 43
hnnduéttipng b «<puwwpwpuljuyhls uwlpupympimbbbph dwuptis << opbiiph 35.1-35.4 hnndwdtbpny

nrnecesh
<wipwpdnd <ndhwblhupwbhl wunplwting beppnhpyw) gnypp

inph widubinidp blpwpwghpp quwhunpdwl ghtin | Ubybwp-ljught ghtp  qnyph
(75%) puwbwp
1 2 3 4 5
1. Nulyw dwynuh pnudwpne /hwipg’ 750, gpwd™ 5.1/ 74 970 56 227 1 hunp
) << ppud <q,"
2 Nulyw dunpwih /hwpg' 750, gpud” 2.1/ 30 870 23152 1 hunp
<< npud << npwid
3. Nulyw duwpwbih ppdwé /hwipg’ 583, gqpud” 4.8/ 55 200 41 400 1 hunp
<< npuwd << ppuad
4. Nulyw Junpwbh /hwpg' 583, gpuwd’ 2.3/ 26 450 19 837 1 hunp
<< npwd <L npwid
5. Nulyw dunpuibh / hwipg' 583, g’ 2.2/ 25 300 18 975 1 hunp
<< npud <q)
6. Nulyw dunpwibih / hwing' 583, qpunt 7.3/ 83 950 62 962 1 hunp
<< ppuid << npwd
7. Nulyw dwipwitih / hwipg' 560; gpwd 2.0/ 22000 16 500 1 hunp
< npuid << npwid
8. Nulyw dunnubih /hwipg’ 583. qpwid 2.2/ 25300 18 975 1 hwp
< << npwd
9. Nulyw dunpwibih / hwpg 583. qpwd 3.3/ 37950 28 462 1 huip
<< npud < npud
10. | Nulyw dwypwih /hwpg 583. qpud 1.5/ 17 250 12937 1 hunp
<< npud <K ppwd
1. | Nulyw dwipnwbip fhupg 583. gpuid 1.2/ 13800 10 350 1 hunp
<< npud << ppuid
12. ) Nulyw dupwbih /hwpg 583. qpund 1.0/ 11500 8 625 1 hup
<< npuwd g
13. | Nulyw wlwhgon dbly hunp / hwpg 583.qpwd 0.8/ 9200
<< npwid
14. | Nulyw whwlgon Jbly hwn / huipg 583.qpwd 0.4/ 4600
<< ppud
15. | Nulyw wlwbgon dtly qnyq Ybwudwé 3 lpnp/ hupg 583. 29 900
gnud 2.6/ < npwid
16. | Nulyw wlwgon bl qnyq / hwpg 583. qpuud 2.8/ 32200
<< npwd
17. | Nulyw wlhubgon dtl qnyq / hwpg 583.qpwd 1.9/ 21850
<< npwd




18. | Nulyw wlwtigon dbly qnyq / hwpq 583. qpuwd 3.0/ 34500 25 875 1 qnyq
<< npwd << npwd

19. | Nuljus wltigon bl qnyq / huwipg 583.q9pwdf 0.8 / 9200 6 900 1gnyq
<< npuwd << npwd

20. | Nulyw Gwhiwqupn /hwpg 750. gpwd 3.1/ 45570 34177 1 hwnp
<< npud << npwd

21§ Nulyw Yuhuwqupn /hupg 750. gpund 1.3 / 19100 14 325 1 hunp
L& npuid << npuwid

22. | Nulyw Juwfuwquwpn /hwpg 583. qnwd 1.4/ 16100 12075 1 hunp
<< npud << npud

23. | Nulyw Ywpnuqupn /hupg 583. qpud 0.1/ 1150 862 1 hunp
) << npwd << npwd

24. | Nulyw Juhiwquipn /hwpg 583. qpud 1.2/ : 13800 10 350 1 hup
<< npuid << npwid

25. | Nulyw pwpnnli / hwpg 500. gqpwd 1.2/ 11640 8730 I hunp
<< npud << npwd

26. | Nulyw gwpnnl Gphnt Lepnp/ hwpg 583, qpund 1.9/ 21850 16 387 T hunp
<< npwd << npud

27. | Nulyw guipnnt / hwpag 583. qpud 1.0/ 11500 8 625 1 hunp
<< npud << npud

28. | Nulyw npw /hwpq 583. gpwd 3.3/ 37 950 28 462 1 hwp
<, << npwd

29. | Nulyw yquing /. hwpg 560. gpud 9.0 / 99 000 74 250 1 hunp
- <& npwd <

30. | Nulyw pliking / hwpq 560. gpwd 8.4/ 92400 69 300 1 hunp
<< npud << npuwif

31. | Nulyw pllng / hwpg 560. qnwd 4.5 / 49 500 37125 1 hup
<< npund << npwid

32. | Nulyw pliting / hwpg 560. qpund 5.8/ 63 800 47 850 1 hunp
<L npwd <L npwd

33. | Nulyw pliing / hwpg 560. gpuwd 5.2 / 57 200 42 900 1 hwp
<< npud << npwd

34. | Nulyw plibng Yinwudws / hwpq 560. gpud 8.0/ 88 000 66 000 1 hunp
<< npud <L npwd
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